Mathematics 10D

2.6 — Exploring Properties: Centroid
Mr. D. Hagen



Centroid: Find the centroid of the triangle with vertices at A(-2,6), B(-4,-1) and
C(9,2).

The centroid is the intersection of the medians. It is the centre of mass of a triangle.

Steps to finding the centroid:

Make a sketch of the triangle.

Calculate a midpoint. Label it on your sketch.

Calculate the slope from the above midpoint to the opposite corner/vertice.
Find the equation (y=mx+b) of that line (the median)

Repeat steps 2-4 starting with a different midpoint

Find the point of intersection using the two equations. That is your centroid.
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